7.1
goooooooo
Vi = jwli I + jwMI,
{ Vo=gwMI + jwls1,
oodo ri1agod

13 = Il + 12
Va=Vi+jwlsl;
Vg = Vo + jwLsls

gbooobooobooboobooboobo

Va = jw(Ly + L3)I1 + jw(M + L3) 1>
VB = ]w(M + Lg)Il + ]W(LQ + Lg)IQ

ocoooooooooooooobooog rabooooood

o0 0000 TOODODOOOoOOoDOooOOO r1ebobOO

Li- (Li+Lg)-(M+L3)
YY)

(sztg)fv—(\M’f Ls)

M+Lg

M LM
o
M
i> O
L3
o

0 7.1c

©

O7ic0D00TOOOO0OO0OOOOOOOOODOOOOODOODOTPODDOODOOOOOOOOOO



7.2

0 7.2a

200000000 (I, =0)

i = jwLiI
V2 = ju]MIl
goooooo
I, - Ls(Lg+ L¢)
! Lo+ Lg+ Lc
LsLc

M o= ATe

Lo+ Lp+ Le

100000000 (I =0)

V1 = ]wM12
Vo = jwlals
ooOooooo
I — Lo(La+ Lp)
2 Li+Lg+Lc

ll LB |2
O O—Z vy
IVZ Vl LA LC V2
O O O
0 7.2b
Vl = {]wLA//JW(LB+LC)}Il

(jw)*La(Lp + L¢)

L¢ . L,Lc

Vo = Vi "9 oA g
2 "Lp + Le ijA+LB+LCI

V2 = {]WLc//]W(LA +LB)}IQ
L
" c(La+Lp) I
Lo+ Lp+ Le
Ly . LoLy

V, = Vy—A g, woka
! Li+Lg I Li+Lp+Lc "’

. Lus(Lp+Lc)
- 1 = jw—-—"—"21
jw(La+ L+ L¢) Ly+Lp+ Le

00000000 O ()x0 3)-0 (22000000

IiLo— M2 — La(Lp+Lc) Leo(La+ Lp)
1Ls — = .

LsLe

Li+Lg+Lc Lo+ L+ Le
LuiLo(LaLp + L% + LyLe)
(La+ Lo+ Loy
LoaLcLp(La+ Lp + Le)
(La+ L+ L¢)?
LsLgLc
(La+Lp+ L¢)

oo
LaLp
(La+Lp+ L¢)
LgLc
(La+Lp+ L¢)

Li-M =

LQ—M =

ooooog

LL, — M?
M
LyLy — M?

0 (4)/0 (2) » Lp =
0 (4)/0 (5) = Le =

0 (4)/0 (6) — Ly =

-

Lo+ Lp+ Lc

;



7.3
0000007300 73d000O0O000O00O0O0O 7.3d0
oooooooooo z, O

1 1
Z, = [—— jw(Ly + Ly — 2M) + -
<JWC1> /1 <]w( L )+ JWC2>
Ly+L,—2M 1
Cl w2C1C’2

1 1 1
]w(L1+L2—2M)+—<—+ )

Jw \Cy 0_2
j{w?Cs(Ly + Ly —2M) — 1}
—w3C1Cy(Ly + Ly — 2M) + w(Cy + C3)
, 1 —w?Co(Ly + Ly — 2M)
T {(Cr + Co) — w2C1Co(Ly + Ly — 2M)}

goo

1-— w202(L1 + L2 — 2M)

X; =~
W{(Cl + 02) - wzclcg(Ll + L2 - 2M)}

0000 (X, 000 =0)

1
~ /Cu(Ly + Ly — 2M)
_ 1
27('\/02(.[41 +L2 - 2M)

Wo

fo

0000 (X, 000 =0)

(Cl + Cz) — wgoC'lCQ(Ll + L2 — 2M)

o Cy + Cy
= VCiCy(Ly + Ly — 2M)
P Ch + Cy

2r\| C1Cy(Ly + Ly — 2M)

0000000000 fuo> fo0OO0O 73c0000000

0 7.3e

C1

M
N
Ll

£L2
C

2

0 7.3a
C, 0 L,O0Ly, O

& oooooo

gbooooog

M

7N
L Lo
— -— G,

0 7.3b
. gooo
TOODOOODO

Li-M  L,—-M

' obo MxOO
goboooood

Li+L, —2M



v“r
A6 T4 LTFOETILE F5TY

/7{9]071-;%/

}-o— T
F/&LEIAN - 2/
n 3 ML
ég BB £

’ CII ],o

AL 0 (5|28 7.5 (PI18) &
9, 7.2 txiﬁsfff-éﬂ X7

V2 [
Vl = —?_\Z(’VL“}Z"}'%)Iz
A = —m I,

1R RIZEE &Y

V2= O
I
’LH 7. '2(%%2%;%)1:{ . Z'fvﬂzmﬂ _ (fh_ﬂ)l/ <y // I
BT e, ) o e jad
Lhbo, 1 WA T 0'S 1@ R84 L 2itS it)w(;nﬂ) Ly /- . i
I n.—.——-l d (’)"HT)C'
‘?T:L’)f[—-ﬂ _ (m41>%L, Ceyf = (ﬂ“
Y Letf= (m#1) L,
T 5|3 IR IR
foo—— s —

L) Logs Loy 2R M )NLC

V97972 4808 X /
| / =

—




I,

I
= T
| o /\’ o 9 "}“y—.“ . Nré] 22
I i I TR
Vo 00’ J/ o i 02/
2% Pty 2R AL AL T, 2410 FS & (RANAD G
- [ .
Visgol L < > oV S de(tatly )] —ﬁlﬁr%(wiﬂ)
Vo = dw M1 <— -
o 9RfA)nE Ik 3, ko FrEL S
W= m
c05b LglibhbHERE Ve ;#ﬁgﬁ,iﬂ'};)
Vo aiis (MV{)
_ Lo ‘”L'GLU(LMLB)II
Latlp N

B L A R—— H*,,,L!

) 2 B\ 1SR EFRlA T 5 ¢ SN
Vo= gleI, < > Vo= jwlpgl, —ﬁ»{u—ﬁu‘}

(123 Gf (2=00) % 228 1AW T «
LAz 1  BREA/ -9 /L NG )

YRS £ XY

LB:LZ P = LVM i LA= ’?L?’L{-‘Lg
- LZ/(UI m.n "—i—']—éz "‘LZ
M2
LZ (Z-fiz.‘Mt)
E Hz .
HipdfCAds
Lp =Lz(3 4H a.) ; 5
4(2«4-25 32~ 2 2%
S = = — = [ [2
A__ (2.5 )? 25/4 75 1Z-H
L2
A Y

M 25



(i)
La LA
""L—-—-——«-{)Q VY —O

L - T

AR 3/ T /8 & 2Z Q) AT A=A
| o r

400 " P W ee - sofek

53 2-Vh 5B k4 -4 v A3

(Jwlat ;—6%) Wl 4plo (%71 il

= =

(olat aﬁz ) +dwls n*— wr(latle)C
B EHEB I (53 -0)
AR jﬁ-— —b 4, e 29 e
o) H KA gH_ (44 -0)
e »)(LA?LBJC T e QEJ(L::_Ls)C = 45 He





